B.Sc. 4th Semester (Honours) Examination, 2021
CHEMISTRY
(Transition Metal & Coordination Chemistry; Functional Group Organic Chemistry)
Paper : UG/CHEM/404/GE-4
Course ID: 41414
Time : 1 Hour 15 Minutes Full Marks : 25

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
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. Answer any five questions: Ix5=5
@ @A ABG 29 Ted we:

(a) What is the electronic configuration of Zn**?

Zn?*"- G99 3EE [P Tl |

(b) What do you mean by systematic error?
NSNS G @S @ 2

(c) Give an example of fertilizer having phosphorus as special element.

TREE G TS T T T |

(d) What is the coordination number of Co in [Co(NH3)sH>O]Cl3?
[Co(NH3)sH20]Cl3-¢9 Co-¢ HolI% F© 2

(e) Give an example of dibasic aliphatic acid.

a3l fewidn wifermies suibitea Sngad we)

(f) What is meant by mutarotation?

NCOOIEIGE* e & @RI 2

(g) Why is alanine amphoteric in nature?

Sl @ So¥NN (amphoteric) #3feT ¢

(h) What is meant by zwitterion?

GG WRA S F @R 2
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2. Answer any two questions: 5x2=10
@ @I 90 2R Te WS

(a) What are the basic difference between double salt and complex salt? Give one
example each. 3+(1+1)=5
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(b) What happens when alcoholic solution of dimethylglyoxime is added to the
aqueous solution of nickel chloride and the mixture is made alkaline with NHsOH?
Write down the structural formula of the solid product. 3+2=5
o 9 T - e R weln aae ORfeiRe diResfeE SEeRan aad @i 9
=7 g fReelfbee NH4OH =i widi <11 =617 Tt i “Mida oloore Ao Gl

(c) Write notes on the following (any two): 21/px2=5
@ I 4 RacE e B e

(1) Kiliani-Fischer Synthesis
(Fefermia-Re=im sfecsae)

(i1) Gabriel’s phthalimide synthesis
(e Wiemie Aersme)

(ii1) Monosaccharides

(STAPTIFEIZE)

(d) What is isoelectric point? Outline ninhydrine test of amino acid. 243 =5

T 7 T F @t ? e e FreiEn fwm wie el

3. Answer any one question: 10x1 =10
@ @A G 2R TE e

(a) (1) State the main postulates of Werner’s Coordination Theory with appropriate

example.
ToRE TrizahTR SRIEE AR TediuvE Y& ISl e

(i1) Glucose and fructose produce same osazone — Explain.
‘NG @R FEE GFL SN TLAN T - I AN

(ii1) Give the IUPAC nomenclature of following compounds:
T &l @eiefem [UPAC FRa Gl
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I. [Co(NH3)4ClL2]ClI
II. K3[Fe(CN)s]
II. [Co(NH3);sNO,.CL.CN] 3+4+3 =10

(b) (1) Define accuracy and precision and differenciate between them.
G (AT - TS G FRRIS] RR S W AL

(i1) How do you prove with chemical reaction that the glucose molecule contains
(A) -CHO group and (B) five -OH groups?
AT AR AR [Fed e T @ e weqre (F) —CHO g7t @32 (%) #vfl
—OH g T9¥I7 ¢

(ii1) Transform: benzoic acid to aniline.

“7Teq @ : [ERT Suihe— ik |

(iv) Identify A and B in the following reaction:
Jw RiFwm A @32 B-i7 e @ |

A B
CH3;CONH, —— CH3;CN ———= CH;CO0H (1 yyi305 15— 1




